DELHI PUBLIC SCHOOL JAMMU

SESSION 2024-25.
CYCLE TEST -1 (REVISION SHEET )

Class- V Subject:- Maths

General Instructions:

> Section A choose the correct option.
> Section B very short answer questions.
> Section C short answer questions.
> Section D long answer questions
v All guestions are compulsory.

Section-A
Choose the correct option:

Q1. The digit 9 in the numeral 92,35,625 is in
period.

a) Thousands b) lakhs C) ones

Q2. 100 lakh is also called

a)10 million b) 10 crore c) 1 million
Section-B

Q3. Write the numbers in short form:
a) 30,000,000 + 500,000 + 20,000 + 60 =
b) 50,00,00,000 + 20,00,000 + 700 + 9 =

Section-C
Q4. Find the difference between the place values of
the two 9s in the number 66,92,97,175.




Section-D

Q5. Arrange in ascending order:
a) 22,15,626 ; 33,52,262 ; 22,51,626 ; 44,15,262
Arrange in descending order:
b) 541,120,290;15,120,290; 135,120,920 ;52,017,690
Q6. During Covid pandemic period, 46,12,30,549
patients were cured in a City hospital due to the
hard work of doctors,nurses and ward boys.
a) Write this number of patients in words according
to the Indian place value system.
b)  Write the successor and predecessor of the
given number.
c) Write the place,place value and face value of 2 in

the given number.


















